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HOME SCIENCE - II

e faam - 11

Assertion (A) : Do not pull the measuring
tape too tight where it will press into the
skin, though this will give a smaller
measurement, it will not be accurate if
you are truly trying to record correct size
information.

Reason (R) : The cloth measuring tape
have both centimeters and inches on it,
So that you can measure according to
your preference.

Code :

(A) Both (A) and (R) are incorrect.
(B)  (A) is incorrect, (R) is correct.
(C) (A) is correct, (R) is incorrect.

(D) Both (A) and (R) are correct.

When you exert yourself vigorously
without relaxing for a moment, you
experience muscle fatigue or even
exhaustion which is due to the following
reason ?

(A) Accumulation of lactic acid
(B) Deficiency of glucose
(C) Sweating

(D) Deficiency of lactic acid

1.

AFUHYT (A) : AfE 317 g F T SR
1 AFHER U F F R F R E A
AT 29 1 g FH F A F forg wi=m
el =fen STl W = § A e €, Tafy
I T B WG 3 S TE TE 2

T (R) : YIS & HeIL 29§ G2re ofiw
3= I % w29 €1 fed s et
HE % TR WY o % o T 3T
FHFA |

e :
(A) (A) 3R (R) SHT W& 78 & |
(B) (A) @&l &l 8, (R) W&T &1
€ (A)FAR (R) ¥ 7 21
(D) (A) 3R (R) S =T ¥

wis 9 R fagifa & v § sesnet
HE F WA H €, d-eTg et gwe
e fafqs @1 f oe Frsfatag feg
FR0 Y wE E2

(A) wfRs o #1 Fawe
(B) TEHIE ®i qEidar
(C) A

(D) wfRF s #1 o
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The following are objectives, of :

(a)  To check the quality and suitability
of raw material

(b)  To monitor the production
()  Toassess the quality of final product

(d) For R and D (Research and
Development) purpose

(e) For new product development
Choose the correct answer :

(A) Textile testing

(B)  Yarn testing

(C) Garment testing

(D) Fibre testing

Parental role in the family change
during :

(a) Child bearing stage
(b)  Beginning stage
() Expanding stage
(d) Contracting stage
Code :

(A) (@) and (b)

(B) (b), (9) and (d)
(© (a) and ()

(D) All stages

3.

frfafes stva €

(a) W= W I TEE SR IugET
S Tl

(b) SR W TR T
(c)  3ifcT Scare F TVTEE 1 e H
(d) oTgEum i fosm & stvg % feor

() T 3Rl ¥ fawm ¥ fou
[/ TG

(A) Fug wlEm

(B) T Udieor

(C) Ry e

(D) dq wgor

F WA ofiEar § Ay 5
it uftafda gt &)

(@) TTfuE =woy
(b) URMYE =T
() Ta=amor <oy
(d) HF=A =W
%<

(A) () 3R (b)

(B)  (b), (c) 3 (d)
© (@) ¥R ()

(D) |4t =

SPACE FOR ROUGH WORK / 7% %14 % fordt s
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Assertion (A) : The objectives of the
Child Labour Act is to ensure that all
children between six to fourteen years are
in school.

Reason (R) : Under RTE it is the duty of
the State to ensure free and compulsory
education to all children below the age of
18 years.

Code :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.
(©) (A) is correct, but (R) is incorrect.

(D) (A) is incorrect, but (R) is correct.

Colostrum is very good as it is rich in
proteins and

(A) Carbohydrates
(B) Minerals
(C) Vitamins

(D) Antibodies

Seating grouped together to form a single
unit is called as :

(A) Lounge seating
(B) Multiple seating
(€) Grouped seating

(D) Conversation seating

YT (A) : 919 g9 SfufEm #:1 =
WA R g Fm e fF e U ad &
Tt == = foenerm s =nfew |

HIUT (R) : 9180 & iferpm & siaia 2 U
THEE H FoA e H 18 9d @ w oy &
g4t Fr=El &l gad U4 SAevas e faet |

(A)  (A) 7= (R) 3T Tt &)
(B) (A)de (R) i TTerd €|
(©) (A) T T W (R) o B
(D) (A) T & W (R) FEl B

[ SR B )
(A) sl
(B) wfqsi
(C) Taerfat
(D) wferort

Tehel {T Sl T & e Hifen =i us gy
TYfed FTH T F41 FE TG E ?

(A) e =ifam

(B) =g wifén
(C) wfea wifen
(D) ardieny Hifén
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Assertion (A) : A Printing machine
consists of several copper cylinders or
roller which are engraved.

Reason (R) : The number of rollers
required depend on the number of colours
used in the design.

Choose the correct answer :

(A) (A) is correct but, (R) is incorrect.

(B) Both (A) and (R) are incorrect.

(C) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).

(D) Both (A) and (R) are correct.

Media comes from a word

AR (A) : BUE = § (copper)
& T gU SEATHER THHNER et i e
AT |

WIT (R) : Vo9 &1 Hen fesmeq & o %
TR Y WE R e 2

“ﬁ'fﬁﬂﬂﬁ :
(A) (A) W&l ¥, g (R) 7o 7|
(B) (A) 3R (R) 3 erq ¥

(©) (A) 3R (R) =i W& &, fobg (R), (A)
! el e T R

(D) (A) 3R (R) 2 =&t &

Hifsan wise &1 3y gy %

“Medium”. weg “‘riifeam ! @ g ¥
(A) Greek (A) %
(B) French (B) %™
(C) Spanish (C) wfrr
(D) Latin (D) @few
SPACE FOR ROUGH WORK / 1% &4 % fory =g
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10. Aims and objectives of school guidance  10. Tarmera ARTasT ws Ty F1 wed 3R 32T

and counseling are : e

(@) To reduce teacher’s workload (a) TSI I FEYR H FHH FET

(b) To cultivate essential life skills in (b) Teenfei & swevas e wee #
students frefor s

(c) Toenhance parental responsibilities () Hg= foerfedl =t s

(d) To minimize the incidence of (d) Tommea ¥ srgameaEd wa g foe
indiscipline and anti-social activities ToRasti #1 9 FE
in the school

Code : %< :

(A) (a) and (b) (4)  (a) ¥ (b)

(B) (c)and (b) (B) (9 ¥R (b)

(€) (b) and (d) ©) (b) ()

(D) (¢) and (d) (D) (c) 3R (d)

11. Which of the following are 11. ¥ 8 &1 'y’ ¥?

“Nutraceuticals” ?

(a) Prebiotics and probiotics (a) Wierdifeas Ud dierfea
(b) Antioxidants (b) RIS H

(c) Phytochemicals (c) THIEEIhiHTY

(d) Trace elements = (@ U veiea

Code : e

(A) (@), (b), (d) (A) (@), (b) (d)

(B) (@) (), () (B) (a). (b). (¢)

© () (), (d) (©)  (b), (), (d)

(D) (a), (c), (d) (D) (@) (), (d)

SPACE FOR ROUGH WORK / T% &1d & & g
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12.  Assertion (A) : ‘Singlehood’ as a trend 12, ARG (A) : TR TF Fgf feror
has risen considerably in recent years, 9 W T frerere § samR TR
Reason (R) : Women with highly ST (R) : Frcafvs fufam, gf 3=,
educated, career oriented, delayed fowifara forame qon faame-fasse o gfg =
marriage and increase in divorce have THHTA H ST Frrer feam ¥
contributed to remain single.

Code : T

(A) Both (A) and (R) are correct. (A) (A)7=n(R) SHI wE &
(B) Both (A) and (R) are incorrect. (B) (A)den (R) S TTerd
(C) (A) is correct and (R) is incorrect. (€) (A) T ® &R (R) Tora £
(D) (A) is incorrect and (R) is correct. (D) (A)7Tera # i (R) 9et 2

13.  Andragogy is the study of teaching : 13.  TrIn forms ereares & oy 22
(A) Children (A) &=
(B) Adolescents (B) fwwir
(C) Adults (C) =T=h
(D) Elderly (D) W@

14.  Compensation for faulty goods or services ~ 14. oo HER I e & fare s st
is ensured through the consumer right F Toq &faqfd *1 =rereen &
to: T G wi IR R
(A) Redressal (A) fFaEmro
(B) Education (B) forem
(C) Justice (C) =mg
(D) Choice (D) fasey

SPACE FOR ROUGH WORK / T% &Td % for wmg
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15.

16.

.

FAQO approved the use of irradiation to 15.

control pathogens in fresh and frozen
meats in the following year :

(A) 1988
(B) 1997
(C) 1975

(D) 1990

The term that includes bed sheets and 16.

pillow cases, bed spreads, quilt covers,

duvet covers, cushions, blankets,

mattresses, etc. is called as :
(A) Upholstery
(B) Furnishings
(C) Bed textiles

(D) Comfort textiles

Curriculum development refers to the  17.

process of :

(A) Curriculum Designing
(B) Implementing

(C) Evaluating

(D) All of the above

forg o | ww.T. A, a1 qen fensa wiw
Ty o 3 e feReor 26 SR 1 Jr=aa
& i ?

(A) 1988
(B) 1997
(C) 1975

(D) 1990

=% U fogd fesmm, aee g, Tei-9r,
e W, Vil F W 1 @, T, Fee,
] Sefe Wi B €, 1 el © ;
(A) WISTEEA (FHL )

(B) gHfSS T

(C) Tawa e

(D) INHIE %A

TgAFH TEH FI Uk Hafed ¥

(A)  IETHRA T §
(B) Toar==m |
(C) W §
(D) 90 T+t 9

SPACE FOR ROUGH WORK / 7% @i & &3 w'g
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18.  The transmission of receivers reaction 18.  wifterat =t wlafsran =1 womor amqg Tus =
back to the sender is known as : T FEed ¢
(A) Feedback (A) wfagfe
(B) Noise (B) ¥R
(C) Comment (C) feoguit
(D) Source (D) &’

19. A short series of lectures by 5- 7 experts ~ 19. 5 - 7 fagwgi B et &7 favm & 3u-
on sub-topics of a main topic is called : ol o & w8 T SAFAM Tl &l el

' ST ®
(A) Seminar (A) Hrdt (Sfiam)
(B) Workshop (B) whTdumen (=shving)
(C) Symposium (C) ufHarE (famifsm)
(D) Conference (D) ¥ (FFHi)

20. The process that involves a comparatively 20. U g foad HATITE] 5TeT & T o
low order of heat treatment, generally at $H dI9HH 9T qoiHIcHs B9 § o g
temperature below the boiling point of T YSH 531 s ‘3’, QﬁT uferan =i Fed
water is known as : g:

(A) Pasteurization (A) areade
(B) Sterilization (B) dedtao
(C) Irradiation (C) fwrom
(D) Immobilization (D) fre=esTo
SPACE FOR ROUGH WORK / 1% &r % forar wig
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21.

22.

23.

The following is one of the international  21.

organizations for the promotion and
protection of consumers :

(A) UNESCO
(B) FAO
(C) 10CU

(D) WHO

A house constructed in a native manner, 22.

close to nature, using the materials locally
available is termed as :

(A) Vernacular house
(B) Energy efficient house
(C) Eco friendly house

(D) Money saving house

Foundation stones of an Extension 231

programme are :
(A) Objectives
(B) Problems
(C) Solutions

(D) Facts

= § ¥ B9 T SUHEE F1 Weard @
T ] TH AL G € 2

(A) FiER

(B) UH.L3.

(C) oME.3ET,

(D) S=H.TH3.

T yeid! ¥, wehfa s ud vy aliw
e R A FRI @R

(A) oAEER TR
(B) SIEH &
(C) ufedfae widt e

(D) Fers=d e

fareft oft waR FEEH & fE F TR €

(A) g
(B)
(C) HHIYM

(D) @

SPACE FOR ROUGH WORK / T% %14 & fo& e
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24. The quotient obtained by dividing the  24. ¥ wuif #t FA AGHTd §TFA I w2 H
total covered area on all floors by the area & § YT 29 W W YT HECAT € :
of plot is called as :

(A) Floor area quotient (A) T AFA YIRS
(B)  Plinth area quotient (B) Y &FFer YT
(C) Plot area quotient (C) wie &a%e JTHel
(D) Site area quotient (D) T &% IITH

25. Common symptoms of Alzheimer’s 25. 3TSSEHR T % 9 0T F

disease are :

(a) Disorientation (a) fﬁ'ﬂ'@?

(b) Joint pain (b) SreTE

()  Anxiety and anger (c) fomwE Hiy
(d) Upper respiratory infections (d) 9 vawa el § HaHao
() Memory loss (e) mEEmd H aifa
Code : %e

(A) (@) (d) and (¢) (A) (@), (d) 3 (e)
(B) (a), (b) and (d) (B) (a), (b) 3R (d)
(©)  (b), (c) and (e) (©) (b), () 3 (e)
(D) (@), (c) and (e) (D) (@), () 3 (e)

26. Select the correct answer for the following 26, frafafas o 3q @t s =1 ECIE]
statement : Tiﬁﬁm :

“The process of producing fabric by " IS % SR FI Wfhe H e a1 (unt)
transferring continuous yarn into F T GRT %8 | Ha7 Frsrer
interlocking”. (Interlocking loops) BT o wimar &1
(A) Knitting (A) fafgn
(B) Weaving (B) I
(C) Warp Knitting (C) qER T
(D) Shedding (D) feT
SPACE FOR ROUGH WORK / T% %13 % fo g
Set - A 12 9210/TFU-HOMSC/ELG-II



27. A statement which shows how family 27. 4 faeror st gwiar € f %4 wiftef o
income is spent on various items of =1 fafus Hﬂaﬁ W EH o S g, S
expenditure is known as : SR :

(A) Ledger (A) wET-aE

(B) Balance sheet (B) qeH-TH

(C) Assets statement (C) uftEufa foemm
(D) Financial record (D) fosfa-feris

28. Match the following latest innovation ~ 28. it - I'¥ faq 1T Feftaa Far=m & T
given in List - I with reference to the T - 1% 378 Hefyd T & Hed | e
names given in List - II : FifC
List - [ List - 11 el - 1 et - 10

(a) Maestley (i) By (a) WA (i) TEAEEN

Spinnova

(b) Post-consumer (i) By Teijin (b) UE-IudE FTE (i) 2 EN
cotton based Jeans areniE S

(c) Biofabrication (i) By Levis (c) wErhfoRed TS (i) @fw iR
Leather and Evrnu EERS @0

(d) Wood fibre yarn (iv) By Emel (d) THS FESR AH (iv) Tffe 3
technology and Aris (g ) dreifiTeR ™ gh

(e) Tech. infused (v) By Modern (e) ke Hftd T&T (v) Hied HiEl
wearables Meadow Rl B
Code : e

(@ (b) (¢ (d) (e (@ () () (@ (e
(a) G @ ) @ @) (A) @) @) (v) @ @)
(B) (v) () (v) (D) (i) (B) (v) () (v) @) ()
© @ (v (@) @@ () © O @Gv) @) @ ()
D) (v @) @ @) @) (D) (v @) @ () (i)
SPACE FOR ROUGH WORK / T% &8 & fordl g
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29.  Arrange in order of development of pPlay  29. =i # Wl ¥ faww 91 w9 § syatie
in children : FHIfeT
(@) Associative play (a) HEEd @
(b)  Sensory - motor play (b) I - THF Fe
(c)  Outlooker play (c) eNSegH B
(d) Cooperative play (d) wefm ae
Code : FT:
(4)  (b), (@), (0), (d) (A) (b). @), (0), (d)
(B)  (®), (c), (d), (a) (B) (b), (), (d), (a)
©)  (©) (b), (a), (d) € (©. (), (a), (d)
(D) (b), (0), (a), (d) (D) ®), (0), (a), ()
30.  The Law of Colours is also known as : 30. T From &1 3 offt wer s
(A) Law of hues (A) 1= fam
(B) Law of relationships (B) Heay # gy
(C) Law of pigments (C) =i =1 fay
(D) Law of background (D) y=Yfm %1 fam
31. Select the correct answer fori the 31. frefefias e ¥q wl so a7 T B
following statement -
Statement : The margin kept for stitching T : IR 1 e % forg s sty
the garment is known as : S 2, % e & ;
(A) Margin (A) wfstq
(B) Seam Allowance (B) iH sss
(C) Overlapping (C) e
(D) Selvedge (D) He@s
SPACE FOR ROUGH WORK / 7% %™ % fort stz
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32.

33.

34.

A series of standard and specifications
designed to establish minimum safety in
the erection and construction of buildings
for safety of public are termed as :

(A) Master Plan

(B) Town Planning
(C) Zonal regulation
(D) Building Bye-laws

One of the following is incorrect about
milk as a diet :

(A) TItis low in Iron content but rich in
calcium, sodium and potassium.

(B) The chief proteins are caseinogens
and lactalbumin.

(C) Itisrich in vitamin C and D but poor
in vitamin A and Riboflavin.

(D) The major carbohydrate is lactose.

The ratio that is calculated by dividing the
operating net profit by sales is known
as:

32.

33.

34.

Operating ratio
Operating profit ratio
Net profit ratio

Gross profit ratio

wrerfed § waAi w1 Seum wa o H =
e ¥ forg, wrent qen faferzansd =1 wae
¥ U FATHEA I HE A E

(A) AR @A
(B) S WA

(C) S\ TEeH
(D) TramE: wed

forameR 3% w9 H gy et Frefatad s
H ¥ FH-91 $9F 7GA ¢ 2

(A) THE WiE T AT HH §, W T8
ez, Afsam @ drefrm § §9=
Tl

(B) s T daeedfdd THE WG
ik

(€) = faeife C siR D & go=1 € fofrg 7
faafim A 3R TzamRifas #t 5en 9
Ed ¢

(D) WIS THH FIE FEEEEE €|

famg | wEeE e oy & fFafsd 2

(A) rEIeH A

(B) WETEH @Y ST
(©) frae @ SrgTd
(D) ¥%a w4 AT

SPACE FOR ROUGH WORK / 7% & & fordt &
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35. Which of the following are soluble 35, 71 & & F qorier smerta 1o 82
Dietary fibers ?

(@) Pectins and gums (a) T 9 7ig
() Mucilages (b) feers

(©) B glucans (©) B TIHY
(d) Lignin (d) fafs

() Cellulose () Hege
Code : FE

(A) (@), (®), () (4) (@), (), ()
(B)  (0), (d), (e) (B)  (c), (d), (e)
©) (b)), (d) ©  ®), (), (@
D) @ (0), (@) (D) (@), (© (@

36. Carpel Tunnel Syndrome is a problem 36. mﬁamﬁq@qmm%ﬁ

occuring due to recurring activity in the : F1 WS T3 1 ff & wror B
(a) sfer
(A) Fingers
(B) =wemeai
(B) Wrists
©) =i
(C) Hands
(D) rEfrET
(D) Etbows

SPACE FOR ROUGH WORK / T% %14 % forat e
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37

38.

Which of the following are associated
with puberty ?

Adrenarche
Gonadarche
Heterarchy
Menarche

(e)
Code :

Spermarche

(A) (), (b), (d) and (e)
(B) (b), (c), (d) and (e)
(©) (a), (0), (d) and (e)
(D) (a), (b), (c) and (d)

Assertion (A) : Research in Reproductive
health describes women’s disadvantaged
position and Lack of reproductive rights.

Reason (R) : Notion of Masculinity and
feminity are outcomes of social
construction which shape sexuality and
reproductive rights.

Code :
(A)
(B)
©
(D)

(A) is correct, but (R) is incorrect.
(A) is incorrect, but (R) is correct.
Both (A) and (R) are correct.

Both (A) and (R) are incorrect.

a7

38.

ot B | = T e | I3 2

TRHTHT

(A) (@), (b), (d) ¥ ()
(B) (b, (0), (d) 3 (e)
©) (), (©), (d) 3R (e)
(D) (a), (b), (©) 3 (d)

fueRer (A) : UeiA T | vy Afeensti
1 ifeqe frufa aur goqm sifusrl i
T T FUH FET L

HIOT (R) : oU UF TRIcH il SN
A A %1 9o # S Al .
YT AR Bl T FLA T |

e
(A)
(B)
(©)

(D)

(A) FEI &, 93 (R) T B
(A) 7T ¥, T (R) TEI €|
(A) ¥R (R) 2T @& €1
(A) 3 (R) S e § )

SPACE FOR ROUGH WORK / T% @td & ford <ime
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39.  Listening is badly affected by : -39, G T8 W wwiferd g €
(A) High speed of speaking (A) dier =it oty afg
(B)  Overloading of listening material (B) 49 9 & Hfywm §
(C)  Physiological problem of hearing (C)  #av 718 =t wHiftew auey g
loss
(D) Al of the above (D) ST |4t |
40.  Following scientist is regarded as the 40, Frfafee dmfei 4 4 i et
father of Canning : S % Y H S e &2
(A) John Ha (A) SiH@
(B) Nicolas Appert (B) Treprerg uye
(C) Douglas (C) Eremg
(D) Louis Pasteur (D) <E" YR
41.  Which of the following cannot be a good  41. UMV % Wem WewA F oA T ESS|
way of communication in promoting 1 & & w0 1 i a1 B
literacy among villagers ?
(A) Group discussion (A) e ==t
(B) Demonstration (B) wewH
(C) Reading and Writing (C) =9 9 wiEq
(D) Slide Show (D) RS 9
SPACE FOR ROUGH WORK / 1% &1 % fer g
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42.

43.

Match the principles of design in
Column ‘A’ with their statements in
Column ‘B’ :

Column ‘A’ Column ‘B’

(a) Scale (i) isakey ingredient
to create pattern
and texture.

(b) Repetition (i) catches the
viewer's attention.

() Symmetry (iii) isdeliberatesizing

of individual
elements.

(d) Emphasis (iv) is attractive and

creates a sense of
harmony.

Code :
@ (® (@ (@
(A) (@v) (i) @ @
(B) ) (@) @) (@v)
© @) @ @Gv) @
(D) @) Gv) (@) (i)

Time Management, getting a job,
interview, computer, cooking, driving are
the :

(A) Livelihood skills
(B) Learning skills

(C) Lifeskills

(D) None of the above

42,

43.

wy ‘A’ A few ™ femmea & fagid i

W /B’ § fEu T S FHoE % IR e
I
Wy A WY ‘B’

(a) T () U eidm s %
fem ws weeayol
o B

b TREf ) wE F W R
=

(c) UHETE (i) AT @l F
IR 1 faaRga®
TR |

(d) <= (iv) 98 STHEF T
TAMT 1 TR
A & |

E T

@ () () (d
(A) (v) () (@) @
(B) @ () (i) (v)
©) @) @ (@v) (@)
(D) (i) Gv) @) (i)

Y Yeigd, Aihdl 9T A1, AR,

(A) TifaeRl v
(B) s Fh@

(C) fe Fre

(D) S H q FE T

SPACE FOR ROUGH WORK / T% & & fod s
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44. Arrange in correct Sequence the 44. URYM fmiy § fifamr sin e s
gl following steps in process inspection and e & e =eolt 9 it w3 s
quality  control  of  garments Hifa
manufacturing :
(@) Inspection in fabric sewn section (a) =% faem & HIITT =1 Fdteqor
(b) Inspection in fabric spreading (b) wYE e F SN =1 Frdtero
section
(c) Inspection in fabric cutting section (c) wUS FIFEIF ST T Fadtaqoy
(d) Inspectionin sample making section (d) T & F F STHRT 1 Fdreqor
(e) Inspectionin pressing and finishing (e) TEM (pressing) SR Rshn 3 &
section T 7 Ftaror
Choose the correct answer [E IR A
(4)  (e) (a), ®), (c), (d) (4)  (e) @), (), (¢), (d)
(B) (A, (), (©), (@), (e) (B) (), ®), (0), (@), (e)
© @ ®) (9, (@), (e) (©) (@), () (©, (@), (e)
(D) (). (e), (d), (@), (c) (B)  (b), (e), (d), (). (c)
45.  Which one of the following is not a part 45 TEHY ' =@’ w1 Tk 5 Rl )
of “Blooms” taxonomy ? g2
(A)  Knowledge (A) FH
(B) Reaction (B) wfafwan
(C) Evaluation (C) HeiFa
(D) Comprehension (D) THm
SPACE FOR ROUGH WORK / T% &4 % forg g
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46.

Match the following theories of fashion

in Column ‘A’ with their statements in

Column ‘B" :
Column “A’

Trickle-down (i)
Theory

Column ‘B’

Reflecting

changing style
and practice in

fashion.

Trickle-across (i) Fashion as a

Theory random creation
that dies as an
innovation is
born.

Trickle-up (i) Mass

Theory Communication
and popular
media support
the existence of
this theory.

Lehmann (iv) Coined by
economist
Thornstein
Veblen in 1889.

Code :

@ ) (9 ()

(A) Gv) (@) @ @

(B) (@) (@) @ @)

€ Gv) (W) @ @)

(D) @ @) (@) @)

46.

(a)

(b)

(d)

frefafad @ ‘A’ ¥ Fwm F fagid |

e ‘B’ H fau U I weAl % e faee

HIfST :

WY A WY ‘B’

feaet-31eA @ Il T @i

S oM & A H
T B |

fewa-whia (i) T OF AglEE

2T g & S B
AME S ETE
qETER YA ST
Grlkdl

feFe-a19 (i) SFEER SR ARG

i) Tifemn 39 fogia &
sfeaea =1 T9YA
¥

SRR (iv) o deed

(Lehmann) FrefeTeEt BRI 1889
eeieikieil

H<:

(a () (© (d

(A) (iv) (@) @) (@)

(B) (@) @) @ (@)

Q) (v) (@) @) @)

(D) () (@) (@) ()

9210/TFU-HOMSC/ELG-II
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47.  Harmonal changes are associated with : 47, el qhads Hafua €
(a) Aggression (a) IEFYSHE |
(b) Regression (b) HeAfq |
(c)  Frustration () Fer |
(d) Depression (d) oEERH
Code : %< :

(A) (a) and (b) (A)  (a) 3TR (b)

(B) (b) and () (B) (b) 3R (o

(©) (@), (b) and (¢) © (@), (b) 3R (o)

(D) (@), (b), () and (d) (D) (@), (B), (c) 3 (d)

48. Assertion (A) : Fabrics, as they come out 48, 3wy (A) : FT | IRA & a1g Tt 7y
of the loom, are not at all attractive. They ST TE '@Iﬁ, Farg 3 Efﬂi I fwar §
get dirty and unattractive during the A T o S FE & €
process of spinning and weaving,

Reason (R) : Unfinished fabric, as they /AT (R) : T 96631 % a1+ § 9
come out of the loom after weaving T3 rufisgd a0 3 TSH FaEead 1
known as grey goods.
Choose the correct answer : e I T
(A) (A) and (R) both are correct. (A) (A) 3R (R) <M1 95t ¥
(B)  (A) and (R) both are correct, but (R) (B) (A) 3T (R) ST w1 ¥, fg (R), (A)
is not the correct explanation of (A). HI Hel = T #
(C)  (A) is correct, but (R) is wrong, ©) (A) W& 2, forg (R) TTem %
(D) (A) is wrong, but (R) is correct. (D) (A) 7 &, fofg (R) Tt &1
SPACE FOR ROUGH WORK / T% %7 & ford s
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49,

50.

51.

Which of the following are recent  49.

innovation of Eco-fabrics ?

(a) SAMATOA / Lotus fabric
(b) Fabric from Fermented wine
(c) Hagfish slime thread

(d) Cocona fabrics

(¢) Corn Fibre

Choose the correct answer :

(A) (o) (@) ()

(B) (a), (b), (), (d)

© (@) (b)

(D) (e), (d), (a). (b)

Income received in the form of wages, 50.

salaries, rents, dividends or profitis called
as :

(A) Psychic Income
(B) Inherited Income
(C) Money Income
(D) Real Income

The following factors luminance, colour, ~ 51.

distribution, glare, reflections are related
to:

(A) IHlumination

(B) Hue and Intensity
(C) Heat

(D) Shadows

fr A H9 | HUS T & OB FAER
(innovation) Taiet F9 § 7

(a) WMERT (SAMATOA)/FHA HUS
(b) YRS ferved W GER HUL

(c) IR TEEH 4T

(d) IR FIE

(e) s g

HE I GA ¢

(A) (9, (d) (e)

(B) (a). (b). (), (d)

© (). ®

(D) (o), (@), (a), (b)

A, Aa, R, e @ e % w9
o f5Ha ST STl ST I el = ¢

(A) WHMES T
(B) ot e

(C©) Ha ™
(D) =rfas® 3

Torad grafed 82

(A) W
(B) =i wE dea
(©) ==
(D) B

SPACE FOR ROUGH WORK / T% &Td & o W
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52.  Srerfor vy F e a5y P 39

52. Which techniques are most used in

Educational Research ? o s &2
(A) Questionnaire (A) Y¥EEr
(B) Interview (B) &R
(C) Observation (C) raerF
(D) Sociometry (D) w9=IfEeTg
53.  Match the following, 53. frfafas =i gifem #ifw
List -1 List - I1 et - 1 T - 11
(a) Organic cotton (i)  Created by (a) FTEfTH Fyrg (i) == R fer i
extracting the ﬁ?ﬁra%%gmaw
starch and then ™
sugar
(b) Soy silk () Hasnaturallylong  (b) Frar Yom (i) TEIfaE B9 9 o4
fibres which W Sl war F o
makes it suitable SUgH
for spinning
() Ingeo corn fibre (i) Made from (c) ISitaq mepd IR (i) E‘Tlf M FT wiEar
by product of the 9 57 IE gR
tofu making
process
(d) Eco friendly Jute (iv) Much more (d) wffeerfaeny (iv) TH9fe fafqear 71
environmental HATFeH A H 9ga arfir
friendly than the YIS F e
traditional variety
() Hemp (v)  Bio-degradable (e) ¥ (v) @R
Code : L -3
@ (B) () (d (e (@ (b) () (d (e
(A) @) @v) () (i) (v) (A) @ @) @ (@) ()
B) v @) 6 Gv) G B) ) @ @ G @)
© @) @ @Gv) v @ © G @ @) v
@) & & @) 6@ (v @ & v @) @ Gy
SPACE FOR ROUGH WORK / 1% & % forg e
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54.

55.

Assertion (A) : A family functions as a

system.

Reason (R) : It is a set of different parts
coordinated to accomplish a set of goals.

Code :

(A) (A) is correct, but (R) is wrong.
(B) (A) is wrong, but (R) is correct.
(C) Both (A) and (R) are correct.

(D) Both (A) and (R) are wrong.

Which of the following are used as

“Chelating agents” during food

processing ?

(a) Calcium chloride

(b) Sodium gluconate

(c) Sodium benzoate

(d) Potassium meta-bi-sulphite
Code :

(A) (a) and (0)

(B) (a), (b), (), (d)

(€) (¢) and (d)

(D) (a) and (b)

54.

55.

AR (A) : THER FE TH FOTE w
TR

T (R) : Freife s =1 it & forg o
firs-form feeii =1 U quf=d 92 B

e :

(A) (A) T &, G (R) T €
(B) (A) T ¥ T (R) T ¥
(C) (A) 3 (R) S &El F
(D) (A) &R (R) ZHi e €

T yaeR | e A 8 feTe seEm
“ it we ' % w9 H foRar S € 7
(a) feaam wIEE

(b) WifeT T

() wfea Swie

(d) —drefeEm HEr-smE-HehEe

(A) () 3 ()
(B) (@), (b), () (d)
© @3

(D) @4

SPACE FOR ROUGH WORK / T% &8 & ford e
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56. The plant bodies which contain pigments  56.

and bound with membrane are called
as :

(A) Chlorophyll
(B) Chloroplast
(C) Hemoglobin

(D) Chromoplast

57.  Arrange the following steps of research 57.

in the correct sequence :
(a) Review of literature
(b) Rationale of the study
(c)  Objectives of the study
(d) Methodology

(e) Interpretation

(f) Results

Code :

(A) (), (©). (@), (), (), (e)
B) @, (®), (0), @), (), ()
(©) (@) (b). (a), (d), (e), ()
(D) (®), (@), (©), (d), (e), (f)

TR YR St ot § qen fereen @ &9 7o
g R FR AR

(a) wfe =it weten

(b) STHIT T THIUR

(c) AT+ Req

(d) YT

(e) =mEm

(f) i

Fe :

(A) (), (©), (a), (d), (), (e)
(B) (@), (b), (c), (d), (B, (e)
(©) (@ (®) (a), (d), (), ()
(D) (®), @) (c), (d), (e). ()

SPACE FOR ROUGH WORK / 7% &4 % o e
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58.

59.

A 11 month baby has been brought to the 58.

pediatric unit. Upon examination the
case was confirmed as a thin, lean,
emaciated child. He has history of
diarrhea and refusal to foods from the last
few days. He has been diagnosed with
‘marasmus’. What could have been the
source of energy to the brain cells during
the period of food deprivation :

(A) Glucose

(B) Branched chain amino acids

(C) Fatty acids

(D) Ketone bodies

Freezer burn means : 59.

(A) Drying out of food at its surface
during freezing

(B) Burning out of the food during
freezing

C) Browning of food during freezin:
8 8 64

(D) Softening of food during freezing

T 11 e & o= %1 ar fafewen &=
A AT | G & 390 g8 giAteEe fea
T F1 98 U Ao, few, eeaga o=
§| a% SAfFER F T F HH W oo i
% faell B TR = FRIEHTo 36 TR o1 | STl
‘o &g’ @ faee fen ) omeR fagfa &
R Aferss Fifseet & faw S 1w
1 T8 2

(A) THE

(B) Al a1 & wanfEa Sf@e

(C) & &

(D) M TR

fera1fis TR (WIS &) &1 Haes ¢

(A) fedhs@ ufsean § @ &1 fevemfs
T W Yieha & 5

(B) fesfiym wferan & @ &1 5@ 50|

() ety wferan ® @ s T H @ S

(D) fesity@ wishan 9 @ s ggo |

SPACE FOR ROUGH WORK / T% &4 & fo& e
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60. Match the following concept 60. Frefafes wert =1 foem Fifse .
Column - A Column - B wWY- A WY -B
(@) Gore () The part where a (a) TR (Gore) (i) =Efeme, wWRE
lower body garment et ftum & g
is joined with curve TS § ST T8 B
(b) Gorge (i) A special measuring (b) TS (Gorge) (i) W99 F1 T favy
tape 29
@) CPG. (i) The depth of the (c) .S, (i) T (FF) F TRE
Neck
(d) Crotch (iv) A small triangular (d) == (iv) e 3gE1eS
piece is joined at the (bottom opening)
bottom opening T 1 AT TH Bl
rptvia zwer
(Triangular piece)
Code : %e
(@ () (o) (d) @@ (b) (o) (4
A) @) ) @ @) &) Gi) @) @ @)
B) @) @ (v) (i B @) @ (@) i
© @ @) @) () © O @) (@) G
D) Gv) @) @) () D) (v) Gi) G) )

61. The means which are available and ~ 61. Wi 5% 9 FE F F YA S sy § ue
recognized for their potential in meeting YT &7 % forg 5 = & el SR ;
demands are termed as :

(A) Constraints (A) ==Y
(B) Resources (B) HEHA
(C) Conflicts (C) T8
(D) Desires (D) =1
SPACE FOR ROUGH WORK / T% &1 & ford sz
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62.

63.

Family directly influences personality of  62.

the children by :

(a) Communication

(b) Modeling

(¢) Directing

(d) Controlling

Code :

(A) (a) and (c) are correct
(B) (a) and (b) are correct
(C) (b) and (d) are correct

(D) (c) and (d) are correct

Which of the following are the types of 63.

qualitative Research except :
(a) Phenomenological model
(b) Ethnographic model
(c) Historical model

(d) Case study

(e) Narrative model

(f)  Descriptive model
Choose the correct answer :
(A) () only

(B) (a), (b) only

(©) (o), (d) only

(D) (e) only

{A) (a) TE (c) W& €
(B) (a) W (b) W €
(©) (b)wE (d) el ¥
(D) (o) Td (d) §& &

frefefiga & € #14 4 Aied ToneTs SITHEEH
% yan €, foema:

(a) TETfEESHe Alea
(b) FEYfEH HiEd

(c) Tfdefee Asa

(d) " 1 AFIA

(e) YU HsA

() @oiRHS AiSe

[E WA -

(A) Fa (f)

(B) %9 (a), (b)

() Fa (o), (d)

(D) e (e)

SPACE FOR ROUGH WORK / 7% &rd & fod s
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64. Match the List - I to List - IL

64. et - 1% faer gl - 119 Fifs

List - I List - II gt - 1 gt - 11
(a) Hopsack (i) Isa type of plain weave (a) BUEF (i) T YR i Qe
which produces a very (Hopsack) T S 9gd & fawy
smooth high thread iR 3= et (F=)
count fabric. F T 9 FIE
frrmfor shar 2
(b) Percale (i) Has the herringbone (b) TFA (Percale) (i) T 2t
pattern but at very low (Herringbone) T2+
angle. AR a5 1 Hi0y
Tl |
(c) Gabardine  (ii) Is a tough, tightly (c) e (iti) TF FfaA,
woven fabric used to HHEL AT g
make suits, overcoat FUg e s
and other garments. 2, e it
2 FUL T
#H fopan st €1
(d) Cork screw (iv) Is plain weave with two (d) T B (iv) TF °W % S &
weave or more thread in weft 71 A 9 Ao am
and warp interlaced, EREC ROk
instead of one. (interlacement) &
S U YR Y et
TR
Code : &
@ ® © @ @ ® © (@
(A) () (v) @) (i) (A) @) Gv) (@) (i)
(B) ) @) (i) @) (B) (@) G) () ()
© ) 6 @) @ © @) 6 @) @
(D) (i) @) (v) (i) (D) () (i) (v) (i)
SPACE FOR ROUGH WORK / T% &1 % fod wig
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65.

66.

The symbol of ‘Earthen Pot’ is a symbol to
indicate the following standard :

(A) Eco Mark
(B) Water purity
(C) Environmental friendly

(D) Zero emission

Arrange the following steps of Hypothesis
testing procedure in correct sequence.

(a) Calculation of probability.

(b) Deciding the distribution to use.

(c) Comparing the probability.
(d) Making a formal statement.

(e) Selecting a significance level.

(f) Selecting a random sample and
computing an appropriate value.

Choose the correct answer :
(A) (@), () (b), (&), (@) (B
B) (. (@ (e) (). () (@)
(© (@, ®), (9, (d), () ()
(D) (@), (@), (b), (), (a), (c)

65.

66.

‘3187 4z’ (Earthen Pot) %1 fo=e f=1 Wk

(A) &I A

fmea whe ufwma & fFrafafeaa =
1 WE ATEHH § afEdd Fifor |

(a) WTTEAT HI T FHEAT

(b) oo & I9F (distribution to use)
I T FE

(c) HWEAT T Ferl HT
(d) U S F (statement) ST |

(e) Wed & TR (level of significance)
Rl F4H Il |

(f) AGFDF (random) T 1 =TT HLAT

3 3f9d Hed (value) =1 HEET
I |

Wel 3T H1 gAE HifwT

(A) (a), (©), (b), (e), (d), (F)
(B) (), (d), (e), (b), (c), ()
© (@), ®). (e) (), (e). ()
(D) (@), (e), (b), (), (@), ()

SPACE FOR ROUGH WORK / 1% &1d & foa wme
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67. The communication model of Shannon
and Weavers consisted of the following
elements. Arrange them in right order :

(a) Information source
(b) Transmitter

() Channel

(d) Receiver

(e) Destination

Code :

(A) (@), (b), (c), (d), (e)
(B) (@), (c), (b), (e), (d)
(©) (). (a), (), (d), (e)
(D) (o) (b), @). (e), (d)

68.  Which of the India’s city is a major centre
of art of Zardozi embroidery ?

Choose the correct answer :
(A) Punjab

(B) Kashmir

(C) Lucknow

(D) Kuchchh

67.

68.

I a1 e 1 G wiee e qe) w
U B 1 3 Wt e W et Hifew

(a) FuTIHE
(b) i

(4) @) (b), (c), (d), (e)
(B) (a), (c). (b), (e), (d)
Q) (®), @), (), (d), (e)
(D) (©). (b), (@), (e), (d)

HRAaS 7 HIT T I SES (Zardozi)
FGE el & o W & e 2

Fﬁﬁf{ﬁﬁ

(A) dY9=

(D) ==

SPACE FOR ROUGH WORK / T% &Td & o s
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69. Oneof the following types of doorsshould ~ 69.

be avoided in Barrier free Housing :
(A) Sliding

(B) Automatic

(C) Double swing

(D) Swinging

70. The correct sequence of Piaget's  70.

Sensory - motor stages are :
(a) Reflexive Schemes
(b) Primary Circular Reactions

(c) Coordination of Secondary Circular
Reactions

(d) Mental Representation

(e) Secondary Circular Reactions
(fy Tertiary Circular Reactions
Code :

(A) (@), (d), ®), (&), (c). (B)

(B) (@), (b), (c) (d), (e), ()

© (@) (). (), (d) (e) (®)

(D) (a). (b), (e), (©), (), (d)

anuRfed =0 | o WehR o SXarsi 1 S9A
el HE =ife ?

Frars) & Hae - T WIS Wl HATEH
g:

(a) Rocrerda A
(b) WA gaad idiwar

() fedfrae gaaa wlafsean &1 w9

(d) wmfes Frg
(e) Tadiaeh geoa wlafswan
() gdEs gaad gfafsea

(A) (a), (d), (b). (&), (0), ()
(B) (@), (b), (0). (). (e), ()
© (@ © (b), (d). (&), (B
(D) (@), (b), (&) (c), (B), (d)
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71. Punishments such as reprimands, 71. 3% & fF wzaR, TRTeH(d, TEEEE i

demotions, threat of termination are used ¥, = % geiye 3unm o IqAT TR
in the following management approach : SR :

(A) Stick approach (A) fe= 3um

(B) Carrot approach (B) H¥ IUFH

(C) Apple approach (C) U9 Uy

(D) Log approach (D) @ I9PTH

72.  Which of the following are non-projected 72. = 4 9 F59 W -gdm - g TqIEA

audio-visual aids ? 872

(a) Puppets (a) Y

(b)  Slide shows (b) =T W

(c) Drama () -=®

(d) Exhibition (d) weEHt

(e)  Folk songs and dances (e) i Tid T I
(f)  Film projector () Toren WemERs
Code : Fe :

(A)  (a), (b), (e), () (A) (@), (), (e), ()
(B) (@), (c) (d), (e) (B) (@) (), (), (e)
©) (), () (d), () ©  (b), (©) (), (e)
(D) (b), (B), (c), (e) (D) (b), (6), (). (e)
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73. Affective testing deals with the
following :

(A) Subjective facts such as preferences
that is how well the products are
likely to be accepted.

(B) Deals with objective facts about
products.

(C) Biochemical and psychological
aspects of sensation.

(D) Threshold testing.

74. One of the following is an incorrect
statement about BMR :

(A) BMRisdirectly related to the surface
area.

(B) BMR is increased in warm climate.

(C) BMRisinversely proportional to the
age.

(D) Males have higher BMR than age
matched females.

73, GMTEYIET T TS ©

(A) Towafe qei S/9 adiEe S1iq g
! Teret W=ea | ST S |

(B) wftomHi & FEgfTs e | wrafd ¥
(C) WA & Sa-TErEftTE a9 g
REEIsl

(D) <@elt giie |

74, fr=fafEs o § 9 &um. 3w 9 gty
BT FYF 37T & 7

(A) “IUH.R QUfd: aw &F § gEfd
gl

(B) ¥[%h Sieeny H &l UH.SAR. 1 HE el
T

(C) «i.uR.sR. Wfaeisa: g ¥ |ue ¥9
T gt #1

(D) 3T &I S 9 W, Afgensii Hi gar
T el § & uH,. AR, %1 A Ao g
7l
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75. Marriage laws are designed to protect : 75. foame s 1 f % e ¥q smew faen
™R
(a) Safety of the individual (a) =l =T Ham
(b) Safety of the society (b) HHTS = Haq
(c) Anti-dowry system (c) ot fodiedt wen
(d) Inter-caste marriage (d) S-S foame
Code : L T3
(A) (a) and (b) are correct. (A) (a) 3R (b) =& 1
~ (B) (b) and (c) are correct. (B) (b) 3R (c) et €1
(C) (b) and (d) are correct. (C) (b) 3R (d) =& €1
(D) (a), (b) and (c) are correct. (D) (), (b) 3R (c) T 1
76. Arrange the following Development 76, fi=fafas fawm riFs #1 39% yiy 29
Programmes in the chronological order of & FICTHATAR § Hafteq Fif
their inception :
(@) Integrated Child Development (a) wHfRd sTer faera drs (ICDS)
Scheme (ICDS)
(b) District Primary Education (b) TSt werfaes foren wrdwy (DPEP)
Programme (DPEP)
(c) Mahatma Gandhi National Rural (c) W e g e IR TS
Employment Guarantee Scheme RIS
(d) Swachh Bharat Abhiyan (d) = yra AfEH
(e) National Literacy Mission (e) WM Hawan favH
Code : %e :
(A) (@), (b), (©), (e) and (d) (A)  (a), (b), (9), (e) #R (d)
(B) (@), (e), (b), (c) and (d) (B)  (a), (e), (b), (c) ¥R (d)
(©) (@), (@), (a), (b) and (e) © (. (@), (@), (b) 3 (e)
(D) (@), (e), (<), (b) and (d) (D) (a), (e), (c), (b) iR (d)
SPACE FOR ROUGH WORK / T% &4 & ford sme
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a7,

78.

79.

Health influences food choices. One of
the following statements is incorrect :

(A) People with liver problems need less
alcohol.

(B) Blind people need extra carrots.

(C) Older women need more calcium
than younger women.

(D) Pregnant women need extra green
leafy vegetables.

Select the correct answer for the following
statement :

Statement : In pattern making method
different parts of garments, specially
major parts are made by technical
drawing is :

(A) Flat method
(B) Modeling
(C) Draping
(D) Grading

NIOSH is an international organization
established to study and ensure :

(A) Ergonomics

(B) Operational research

(C) Health and accident protection
(D) Occupational safety

775

78.

79.

TR, SRR W& T WYY Sl §

fr=ferfien el & 9 29 o %o smmr 32

(A) 77 gy g9e o =il #5
FY Ueehleldd I SavasHhar £

(B) 318 =aferrdi 1 aifer wman & e =
HTTTHal Bt &

(©) 7 wfeensdl #1 gor ¥ 93 wfeened
*1 afee Hfewam #t sreavawa B
gl

(D) el wfeensdt %1 aifers T 4 2
TRIGR feeEl Y el Bt &)

fr=fafas Fom 3q vt s = ERIEC]
HIfS ;

e : Yo fmfor =t fafey F e 3 fafis
wrm, foe w9 & yga ym i Ry aitys
S (o) gry et s &

(A) v fafy
(B) wrefem
(©) efdn
(D) afEn

NIOSH T& STqiists wiaa & fommen) womas
=1 % e1er el gfifeaam % foro 35 st
g:

(A) 9H T&7ar I

(B) HfFaTHT Wiy

(C) ¥ ren us geen Grem
(D) =EEIfa e
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80.

81.

82.

Which one of the following is not the  80.

function of communication ?
(A) Information

(B) Execution

(C) Motivation

(D) Emotional expression

Disability in reading is called : 81.

(A) Hemophilia
(B) Dyslexia
(C) Aphasia

(D) Dysgraphia

A document which represents effort to 82.

focus on the commitment of organisation
towards its citizens in respect of standard

of services :

(A) Ombudsman

(B) Citizen's Charter
(C) Promissory Note

(D) Contract

= ¥ 9 o o e @ e A 22

(A) T
(B) Teraraa
(C) afigron

(D) wEATHE Afyeafa

g § sauefal o =1 Fel A g ?

(D) SHHEIED

U ZEaEs S, fhet Tre & s1ut s ar
ufd 9 "ard 23 | Hefud a9 a5 &
U FIA E, FEw

(A) @repare

(B) mfes =meT

(C) =E-TH

(D) HAq&E-93
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83.  One of the following aspect of productis  83. fF=feifEd IR & voq 4 4 FH-T1 3T
concerned with the efficiency of the T % e @ Heafg 22
product performance :
(A) Operational (A) uf=ETeH
(B) Aesthetic (B) Wieateash
(C) Functional (C) fowarwe
(D) Durability (D) fewremm
84. Match the following parts of sewing  84. W ‘A’ & faend wvilq & f=fafaa gmi
machine of Column ‘A’ with their H WY B’ F 3F wEl F 9y e
functions of Column ‘B’ : HITT ;
Column ‘A’ Column ‘B’ Wy A WY ‘B’
(a) Feed Dog (i) hold the fabric in  (a) IS M () HI2 H U
its definite place. Fafeea =R R uws
hi TEAT |
(b) Stitch withdial (i) pull the fabric in (b) fe=fagsmm (i) 92 &1 @
forward. tezeacifl
(€) Needle clamp (iii) to control the () FEREFWTE (i) -9 fem=
screw zig-zag stitch. Frafa wom)
(d) Pressure foot (iv) hold the needle in (d) ¥R = (iv) ¥ ST e
its actual place. M W Ths Fl
G|
Select the correct answer by given code. & 3w 95 fed Fe | Hifew |
@ () ( (@ @ (b)) (9 (d
(A) O () () (iv) (A) @ @) (@) (v)
(B) () (i) (iv) (i) (B) ) () (iv) (@)
© @ (v) (@) () © @ (v) @) ()
(D) (v) () @) (i) (D) (v) () @) (i)
SPACE FOR ROUGH WORK / T% &4 & T&d W7e
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85. Mention the common variable typesused ~ 85.

I ® o R S AT S = S YR

in research. 1 oo HIfST |
(a) Dependent variables (a) 3nEa =R
(b) Independent variables (b) @A =
() Intervening variables (c) T =
(d) Moderator variables (d) #rewET =R
(e) Control variables (e) Traawm =
(f)  Extraneous variables (f)  STETd =
Code %2
(A) (a) and (b) are correct. (A) (a) 3R (b) =& ¥
(B) (a), (b) and (f) are correct. (B) (a), ('b)afﬂ(f)ﬂﬁﬁl
(C) (a), (b) and (e) are correct. (€) (a), (b) 3 (e) HE &1
(D) All the variables are correct. (D) =+ =T T
86. Match the following : 86. T =i gofem =ifsd .
(@) Ujjwala () Health (@) Twae (i) TEReE FAhEE
mission
(b) Amrut (i) LPG subsidy (b) A (i) TR sHEE
(c) Pahal (i) Subsidised (c) vea (ili) ITIEE W G
food L1 D]
(d) Antyodaya (iv) Sewage and (d) FE"E  (iv) T U 5
water
(¢) Indradhanush (v) LPG (e) IF=¥AW (v) S1.9%.ue. 9fEni &t
connection ‘Qﬁ‘ﬁ.ﬁﬁ. T
to BPL
families
Code : C T4
@ () (0 (d () (@ () (€ (d (e
(A) (v) (v) @) @) (@) (4) v @v) ) @) @
B ™ @O (v) (@) () B) (v @O (v) @) ()
©) @) @ @v) (v) (i) © @ @ v (v) (i)
D) O @) (@G (@) (v) D) O @) @) () (v)
SPACE FOR ROUGH WORK / T% &4 & fod wre
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87. Discrete variablesand continuous variable ~ 87. Hdq WX 99T STHAq WX a1 WHR F ¢
are two types of :

(A) qualitative classification (A) TUIHS I

(B) quantitative classification (B) wfTHTOIeT: =it
(C) open end classification (C) gat fay =1 affepam
(D) time series classification (D) T Aoft iR

88. Extension method best suited to tackle a 88. Tt fovy ww H soid oy & ey &

burning problem at some point of time ot =1 «t yar fafy sog 2t &2
18 :

(A) Campaign (A) FEH

(B) Field trip (B) &=y

(C) General meeting (C) HEH |4

(D) Group discussion (D) HgE ==

89. Match the fatty acids with its sources : 89. T 3Tl 1 Ik Hal & @Y e wi

(@) Acetic acid (i) Coconut (a) wdifew wfae (i) TfEw
(b) Butyricacid (i) Palm (b) =gfefw wfae (i) W
(c) Lauric acid (iii) Vinegar (c) @i ufire i) faww
“(d) Palmitic acid (iv) Butter (d) Uiafes T (iv) TEEA
(e) Stearic acid (v) Beef tallow (e) fTeafmw wfoe  (v) w9 =i =l
Code : e
@ () () (d) (e) @@ (b) (0 (d (e
(A) @) @v) @ @@ (@) (A) () @v) @) @@ (v)
(B) @) @) @) (@) (W) B @ @) @) @Gv) (v)
(© (v) (v) @) @G) (@) © M Gv) @) @ @
(D) @) () (v) (v) (@) D) @) G Gv) (v) ()
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Match the following : 90. fr=fefaEa %1 faam 1

List - 1 List - I gt - 1 T - 10
Prebiotics (i)  Phytoestrogen (a) = (i) RIS
Probiotics (i) Green tea (b) TrEtEfes i) WA

Phytochemicals (iii) Oligofructose () TEIHHFEE (i) IferiEaRS
Antioxidants  (iv) Bifidobacteria (d) TEreTRIE=E (iv) STEfFEETaERIE

Code : &e :

@ () (9 (4 @ @ (o (@@
(A) @) @ (@) (i) (A) @) @ (v) (i)
(B) (v) (i) (i) @) (B) () (i) (i) ()
©) @) @Gv) @ (i) ©) (@) @v) @ (i)
D) @ @) () (i) (D) @ () (i) (iv)

Two of the following Acts deal with 91. 7= 4 | 1 sifufaw afeensil vd sifeed

protection of women and girls against 1 féwn & wearn yem & €
violence

(a) RTI Act, 2005 (a) RTI &Ffaf7am, 2005
(b) DV Act, 2005 (b) DV #HfufFam, 2005

()  RTE Act, 2009 (c) RTE stf&f3am, 2009
(d) PCPNDT Act, 1994 (d) PCPNDT =1fyufTam, 1994
Code : e

(A) (a) and (b) (A) () S (b)

(B) (b) and (c) (B) (b) 3 ()

© (0 and (d) © (9 3@

(D) (b) and (d) (D) (b) ¥R (d)
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92.

93.

Assertion (A) : Selection of clothes should
be very Judicious so that we can buy best
clothes by spending minimum amount of
money.

Reason (R) : The clothes should be
compatible to age, personality and climate
and should not be a hindrance in normal
working,.

Choose the correct answer :

(A) Both (A) and (R) are correct.

(B) (A)and (R) both are correct answer,
but (R) is not correct explanation of

(A).
(C) (A) is correct, but (R) is wrong.

(D) (A) is wrong, but (R) is correct.

In contrast to warm blooded animals, fish

do not accumulate and are

thus very low in carbohydrate.
(A) Glycogen

(B) Sugar

(C) Fibre

(D) Cholesterol

92,

93.

T (A) : FIESI 1 FIH TG [FAHYU aith
J T s =nfew fod 3 & =gmem afw
Y F HIY T FIS TG T £

WHIUT (R) : Y8 Y, Al 3 Tag &
WY A WA g B =R R e w e
Ffed 3 3161 7 7

HE I G ¢

(A) (A) 3T (R) I = €1

(B) (A) 3R (R) 3 W& I §, fFg (R),
(A) =t W&l =ren 78 g

(C) (A) Wl 8, =g (R) o &1

(D) (A) e 8, foheg (R) W& 21

w1 IFIw witaat & wfrgw qofeat
! THHAA 7& wdt € o

FEEY §H FEEEee Hi A A e

¥

(A) TETEHISH

(B) ¥

(©) wE=

(D) IRl
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94. The glossary is the list of : 94, YI=-HUE (TEEH) G ;
(A) diagrams used in the report (A) wfdaes ® ggea fosi i
(B) the samples covered in the report (B) wfeaed ¥ ygea =maeyl =i
(C) technical terms used in the report (C) wiaae & woqam aeHiat v=al 1
(D) References (D) weHf i
95. When a worker performs two or more  95. 9 S FIHR UF WY 21 37¢7aT i Fpanadi
activities simultaneously, actively =1 %3 € T95d 5% v § aifus afFe ol
engaged in one of the activities and T ¥ fferg ¥9 ¥ =15 el €1 38 waitm
passively in the other activities, the term F AT G R
used to signify, it is called as :
(A) Dovetailing (A) Fadem
(B) Combining (B) HAH
(C) Sharing (C) wrEH
(D) Splitting (D) @&
96. Which of the following theories focuses  96. 751§ & 37 m fagia ser 9 sifisfm 51
on freedom of speech and expression ? T T Hhf=a €2
(A) Libertarian Theory (A) Hfamarst =1 fagi
(B) Development Media Theory (B) faemm Hifean =1 fagia
(C) Democratic Participant Theory (C) eI Tewfirar %1 fagia
(D) None of the above (D) 3% H F FE 7&
SPACE FOR ROUGH WORK / T% &4 & f&d =
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97.

98.

99,

The Consumer Education and Research
Centre was established in the year 1978
at :

(A) Hyderabad
(B) Ahmedabad
(C) Kolkata

(D) New Delhi

Which of the following has highest
Glycemic Index ?

(A) Watermelon
(B) Pastry
(C) Bread

(D) Dextrose

Which type of leadership is best suited for
optimizing team performance in projects
or programmes ?

(A) Democratic leadership

(B) Autocratic leadership

(C) Participative leadership

(D) Authoritative leadership

97.

98.

B9.

9 foen @ ergEeE S w1978 H
el T foa o ?

(A) TEE
(B) STEHRETR
(C) hicThrar

C) e
(D) TFIN

mﬁﬁﬁmnﬁu’iﬁmﬁﬁwﬁ@ﬁﬁ
AIFE L ¥ oFH UHR F AT IR
T ST # 2

(A) FSAiAS Aged

(B) FRFw g

(C) wBWrlt Jge

(D) anfereTiisr g
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100. What is wrong about non-parametric
tests ?

(A)

(B)

(©)

They
techniques of analysis.

are distribution free

They assume that groups should be
homogeneous.

They make no assumption about the
parameters.

They do make certain assumptions

but these are fewer and less
stringent.

-000-

100. TR-Tufafzs whem & fou w0 g w8 £2

(A)

(B)

(©)

3 forverson it faaeor @ snenfid e
T
$TohT W @ o W ety 2

3 yTEell &% S 8 I e T Ty |

T FB WA § W 9 95T w9 991
FH HIR B 2|

-000-
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SET - A
I 3Hfeha &7 &1 9O ; 2 62 fireram 37eF < 200
Maximum Marks : 200

Time for marking answers : 2 Hours

1, wm;®ﬁ1maﬁﬁﬁm%~mwzmaﬂ%| |t g 7 w1 st §
2. W % 3, & T OMR IR-9ie (Sm-3e) W sifea Fifa

3.  HUNCHS: Hodishd el faRan Sa |

4. Todl ot 7@ % ot 7 @ Tae Td dienee B W v afdd &)

5. OMR SWR-¥E (S-32) &1 94 5 §0 vt o2 FFEYF 7 HY/ a0 T8 T8 e 5@
3o wie =1 feae onfe v Wi o womasy 5 @aa 3 5|

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

B, While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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